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L Hard disk is a :
A.  Primary Memory & Secondary Memory

2 C. Both(A)and (B) D. None of these
e = i:
A WEwd e B, feda® aarl
-
C. (A) T (B) 3 p. T 4 #H
2, USB stands for :
A, Unique Serial Bus @ Universal Sequential Bus
9 i | Serial Bus
C. Unique Sequential Bus D. Universa
E‘M«l g s &
A i e 38 p. it deEe ¥
C. i dienga p. Yfrada Hifige

Which of the following is not application software?
B. Spreadsheet

A. Word processing
Cc. MS-DOS J- DBMS
o F @ S AP afgeda 1 72
i B. Wewie
A @€ wafan
C. THUE-EW D. T
Process of combining more than one cells together is called
_A Overlapping B. Merging
C/ C. Locking B All of the above
quaﬁmﬁaaﬁﬁaﬁaﬂmmrﬁt:
A e B Rl
C. D. Iwfa wt

1
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5.

I,.\

GUI means :

A. Graphical User Icon
@~ Graphical User Interface
egeamrde w1 e i

A. ufFEse gor AEHT

C.  WiEHE TR TR

Which one is not in MS-Word?

+%. Formula Bar

C. Tite Bar
fra 4 ] *19 W ou@e 98 F A6 2
A whEn ww
C. g™ 4

MMX technique is used in :

A.  Network

. Memory
UHUHTFE dE&4% a1 wam i 2:
A. Fea% |

C. A ¥

Virus is a/an :
A. System software

C.  Utility software

ammi:
A, foren wfeeaat
p. FAfad wieeadt

First super computer of the world was developed 1n

A 1978
C. 1980
g @1 Had gEe FR FAR FA 1?7
A, 1978

C. 1980

Set- A 1004-A
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Graphical User ltem

Graphical User Interaction

mﬁmm
miere g E=ICERE

Formatting Toolbar

Standard Toolbar

widfén ZoMR

D. W€ TR

B. Processor

ID. Printer

B. MW ¥
D. fyer o

B. Application softwarc

D~ None of the above

B. mr»ﬁ'&i!ﬂm
D. wﬁ'ﬂﬂﬁﬁaﬂi?ﬁ

-B. 1976
D. 1981
B. 1976
D. 198}



10. The heart of computer is :

" CPU
C.  Motherboard . Memory
. None of the ubove
Fg W e §:
A.  Hefge T
c. v D, avfw 9 A w
1.  InHTML, M stands for:
A Machine 13, Modelling
C. Markup . Margin
A HEE A @A I t:
A wefi B, wrefdn
C. wrks p. WA
12. Ctrl, Shift and Alt are called keys.
A. Modifier J~ Function
C. Adjustment D. None of the above
T, firwe 3l o2 Fhwl | wed (4
A, TifEEE B. ¥®m
C. TEwH D. T @ Hif T
13. Which icon is used from the formatting toolbar to make the text bold?
A. B " - o I
& c U b, R
Wwﬁmwmm%mﬁmmvkmmm%?
A. B B. 1
C. U D. R
14. The function of modem is:

To change analog signal to digital signal
To change digital signal to analog signal

A.

B
C. To input data and information

D. Both(A)and (B)

ey 1 & &
A. wmﬁmmﬁm

B, fesiiea fare i v faa § s@ T
C. s a gEsl F e F

D. =Hi (A) 3R (B)
[P.T.

Set-A/1004-A



16,

17.

When you send a file from your computer to another computet, this provess s called

1%
N Uploading B I)uujnlumllng
> Surhing
w7 Navigaung AN — ¥
n.mmmﬂwmﬂmmf-m .
A HqetEn B =
¢ afD. wfEn
The microprocessor 1s located in the
A. Hard Dusk B. Memory
&~  Motherboard D. Keyboard
TrERIRET am g ¢
A wE e A B. Mt &
D. wWE@E ¥ D. #-#d §
The chip which is used for data processing is :
C. Motherboard P~ Microprocessor
T SR & fag st fag e F Rt ¢ ag
A,
o = B. Uw
MS-Word is - D-
A. Application software B~ System software
T8 }:
A THEIH widw B. fuen wiwawm
C. IRfw D. 3w ¥} 3K T
Cathode Ray Tube used in:
A. Monitor B. Keyboard
€« CPU D. Modem
HYIg t g wgFa w6 2
A, TRz B. #=1-ai¥
C. widig D. w#fen
WAN means :
“A: Wide Area Network B. Web Area Network
C. Wide Allocation Network None of the above
& ?] s 3
A. TEE @ e B. 3% o A s
C. 3T THAFYH Yeah I ° / FE TE

V1004-A I
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21.  Plotter is called
M Input device
C.  Both (A) and (B)
ot wwemm §:
A g framm
¢ < (A) W (B)

22, Mail merge is available ... Menu :

23.

4.

25,

26.

A. View

@4?’. Edit

A =
D. W&
What is a Computer?
\J Electronic machine
C.  Electron machine

Fog 7 7

A TERTE Wil

C. T&RA Wi

Which of these is a point and draw device?
&~ Mouse

C. Prnter
ﬁﬂ'ﬁ?ﬁwmﬂﬁﬁmt?

A. TRE
c. fix
DOS stands for :
A. Disk Optical System
C. Disk Operating Service
=t @ @ ™ &
A fe= afesa faww
c. foar amqtfin wate
Father of computer is called

A. Marconi

e~ Charles Babbage

Frefffar 3 @ FR 1 9T R Fe T 82
A WA

C. g &

Set-A/1004-A [ 71

@& Output device

D None of the ubove

B. mm
pD. avds ¥ A w T

B. Tools
insert

B. TW
D. T

B. Power machine

All of these

B. &R WA
D. IWE uet

B. Scanner

Keyboard

B. W
D. ®-WE

J” Disk Operating System
D. None of the above

B. fem awifen fawm
D. 39w ¥ ¥ F§ 7

B. Adison
D. None of these

B. WA
D. ¥ & ® T
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1oaael PUTS UL

1) 1ant praagisr

I» Mane of the abwve

1" stfiom 9w
1. Tdwn ¥ @ W ol

. L.cast Arca Notwork

2. None of the above

B, wfw dfm Aeak
D. Igwn ¥ & w1

R~ MS-Excel
. MS-Power Point

B, TRUH. waT
1>, TR-UA. teraniz

~H87 256

D. 1048576

B. 256

D. 1048576

B. 9 August, 1995
N o

7 August, 1997

B. 931, 1995

7 #ATE, 1997

B” Desk Top Publication

D. None of the above

w
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URL w
Wi Universal Resoarch 1 ocatw

1. Uniform Research Locator

. Ulmiversal Resounte 1 ocato
g &
A yfveske e wisk

¢ yfede Ruid vk
The followang is the service of Intemet?

B i frend e
D, qivemd frad wmeT

B Chat

A E-mail
. Newsgroup 7 Alltothe above
foymy :“.'ﬁ? *} dm *:
A ¢¥m B W
D e D, swfws @+
The power supply available in CPU box known as.
A ROM B~ SMPS
¢ CMOs D. RAM
@ @ g W ¥ o v W we ¥
A W B. THTEATH
C. TR pD.
Which is not memory measurement unit?
A, Kilobyte B. Megabyte
¢ igabvee B Nano-second
oot W Foi= gfe o #7
A ey B. WWHEIE
C TSz D. ﬁ—m
Which command is used to change the setting of a page?
A Print B. Print preview
& Page setting D. Page setp
hﬁmmmtmmmﬁmﬁmmt?
A fi= B. fiz g
C. Y= ufén D. IR WM
The Internet uses which protocol?
A. TCPIP B. CSMA
C. X25 & None of the above
v faw WaEE ® Iwam w82
A a"m“ﬁ“f m‘ﬁ" B. ﬁo@o@o‘{o

C. 25

et-A/1004-A
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D. Iww ¥ § w1 T
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[upin ation of data 15 hnown as

w
A Ihata redunidany
[ 1 data i omapstoney
aie) &1 Qe ST t.
A wm fregeh
( X pAw st
40. VD 14 an acronym for
A Digital Video [nsk
¢ Digital Versatile Disk
) fra w1 dfWa 9 *.
A fefazm fafza o
. fefaea wdewm e
41. The main aim of a Network is:
A.  Resource sharing
€. Rchability and availability

Fzo% w1 gEa IEvE vn #?
A. TrET # faas sm 9

C. Taawia a Iusram
WWW means :
A" World Wide Web
C. Wide World Web
TopEe T W oY
A, @2 s a9
C. 3BT &8 44

Which of the following is a search engine*?

A. Macromedia Flash

C. Netscape
frer d 4w W @@ @ A B2
A, Henifea ww

C. T

1004-A

4] uta repentance

¥~ Nunc of the above

B =@ frfe=h
p Fywa 4 & it

B. Dynamic Video Disk

D. Dynamic Versatile Disk

B. Traifm #fed 5w
D. TEfhE adam fo=

B. Communication

~2 Al of the above

B. vy
D. Tww weft

B. Web World Wide

D. None of the above

B. 3 ace as

D. IFfF 9 } #¢ T
vB.’Google

D. Index search

B. T

D. R®¥w ad

10 |



. A hyperlink 15 .
W& Atextonimage that opens anothet document on clicking
B.  \special text
C. A teamure to create linked list
D None of the above
A T A T AT 9 R w0 W et ey w g
B. w faviy amm
c fiF e # W & o o T
D. Swfwm H | = T

45, What 15 necessary for booting a computer?
W Opersting system B. Modem
C DBMS MS-Office
TR B T FA & fog @ I
A Sl fawew B. wiEw
C. EdumTE D. WHeTH-ATHE
46 Netscape Navigatorisa .............
X Network Technique B. Browser
C.  Protocol D. None of the above
w.q W i w ................
A demd aFAE B, WEw
c W D. sodwm 9 ¥ T
47.  Which of the following is a single user. single tasking OS*?
A Windows B. Windows NT
&~ UNIX D. DOS
e o R el g, et aféEn Shwme A 2
A fae= B. fig G
c. I D. =®
48. Full name of Modem is —
A. Modulator demodulator B. Modulator demodulation
C.  Modulator discussion B All of these
W F W AW 2
A, TigeR feigre B. Heaw fenige
C. AR feamm D. W& w

set- A/1004-A [ 1) [PT.O\



49, I'he shortcut key to perform a spelling and grammimar check is

A ¥ W
e C. ¥4 por
Tt ao = # we vy vidwz o A
A F1 B K9
¢ Fa D F2
50. First super computer developed in India is -
A Param N Arysbhatl
C. Buddha D. Ram
W ¥ fiftfa yun s W w4
A ™ B. #dWZ
C. Tz D. ™
51. The shortcut key for insert new slide in power point:
AT Ctrl+N B. Cul+O
< C. Col+Mm Crntl+X
WWﬁﬂmmﬁ*mmﬁf:
> e
s2. The key for Rename 3y - P Cnlix.
A. F3 B. F4
e R D. Fs
™ wER F foe gt o
A R B. F4
C. F2 D. Fs
53. Specific quality of a Computer:
A. Storage B. Speed
C.  Accuracy - All of the above
FR ) fafre faviwn 2.
A wwo B.
C. Ry D. Ivfm wvi
54, Which of the following is a Web Browser?
& Intemet explorer B. Ms-Word -
C. Notepad Wordpad
fr 4 & FF v 3w W 32
A TR AR B. Wqw ¥
C. 7ete D. =¥lz

SEt-AJ'“}M-A [ 12 ]



57

58.

59.

Set-A/1004-A

The electronic components used in first generation computer was:
A ICs A Vacuum tubes
C. Transistors D. VLSI
et T *F weaEr F yduw frm T WEREPE I A

A. i B. dwm T

D. ZRRH D. #H-a-at
The Save As dialog box can be used:

A. For saving the file first time

B. To save file by some alternative name

C. To save in a format other than word

&~ All of the above
Save As TraEln www w1 wam & W ¥

w1 ¥ Yo W ¥ w7 &
e ) Awew AW @ W FA F Y
e ® 7 & e = woke F F w5 F

IR

A.

\B‘.’ Function

D. All of the above

A e B. HhuaT
D. vgw wdl

c fw

A collection of 8-Bits is called :
B. Word

N Bye
D. File

C. Record

s-ﬁzﬁ"{*#ﬂf‘ﬂmmt'
B. =

D. wrEd

A WE
c. fw¥

Large collection of files arc called :

B Records

D. Sectors

A. Fields
C. Databases
el & ¥ WE F w9 I

A, WITEE
C. ZWw

B. f=tdw
D, ¥

[ 13 ]
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60 Software refers (o :

B. Setof electronie SWilchey
A Set of instructions D. CPU
. Another name of system bus
?
wiedm fed s ¥ B. WRfw figg 7
A i & e # D. ‘ﬂ‘mo
¢. fRs ¥ W 3= ™ ¥
61 Which of following is not an input device?
A. Keyboard B. P‘l'mler
& Joystick D.
Crophone
v R I WR feaww @
A. &3 B ﬁEI
C. wmfes D. TR
62. Full name of E-mail js —
A. Enghsh mail B. Electric mail
" Electronic mail D. Essential mail
i W wom
A Yhem dy B. s 4w
€ YRt e v
L N murn hn.rud\nndl:h commun.‘cmion, channe] - > e
A Twisted pair '
e c al B Optical fiber
TR s ey fim T YA 5 3
A ez ¥y B. sffeser wran
4 When one letter is to be gent t0 different persons ... Facility of MS-Worg is used,
X Mail Merge B. Speil check
C.  Template D. None of the above
EL| u: T Fem-gem e ) g IR, R e B JE  f—— T = e fg
UG 11
A uE oo B. sy
C. e D. =vdm o % o v
5 Command to copy a file is :
A Cul+C B. Shift+C
2 AlC D. None of the above
I B HG w W e B
A Cul+C B. Shift+C
C. AltsC D. 9w ¥ } #¢ +
t-A/1004-A
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66. Which of the following memories has the shortest access times?

A. Cache memory .
. B. Magnetic bubble memory
C.  Magnetic core memory " RAM
frefafad ¥ @ S durd w1 gy e el w9 8
A drm B. e www Aed
c. #ifes Fr A i
67.  Anerror in computer data is called :
A. Chip 3#” Bug
C. CPU D. Storage device
A fau B.
c. wdge p. wmew I
68.  Which one is not a Database Management System (DBMS)?
A. Access & Netscape Navigator
C.  FoxPro D. Oracle
ﬁmﬁﬂaﬁa—maﬁammﬁmﬂaﬂ%?
A W B. Yeehy YA
C. e D, Im&d
9.  Which of the following is a protocol?
A. FTP & HTTP
C. Both the above D. None of the above
Froifafaa 4 @ F TE wretwra 82
A gwed B. qaim*ﬂﬁ . -
o vdw D. IWF Eai
0.  This is a permanent storage device......--
A. Floppy disk B Monitor
C. RAM D. Hard disk
@it fear & W 7
A few B. WHIX
c. W D. wdfew
" LCD stands for :
A. Loaded Crystal Display B. Liquid Crystal Display
C. Linear Crystal Display \.D/ None of the above
weddl F W FY FE?
A, @Re fewa femm B, fafwe frea fovdt
c fafr fewea foe D. Iww § § F T
[ 151

pr- A T004-A
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1. PC Stands for

B.  Pnvate computer
~A< Personal computer D. None of the above
( Public computer
Ad W @ ™ L . pe—
A wE W D. W R Wi vy
C. vferw wogey
FAR Information in computer is called-
~A" Data B Number
C. Symbol D.  All of the above
TR A o 6] v o 4
A Taw B. Wzl ®
C. fax % D. Iwgw &+
74. In MICR, C stands for
-~ Code B. Colour
C.  Computer D. Character
MICR ¥ 3 % qu wy = #>
A == B. wen
e D, Atee
s Line by Iine fransiation is done by .
& Compiler B. Interpreter
C.  Assembler D. Al of the above
TR IR R s 4
A.  wemgeR } B. =z 3
C. D. IR v 3§
76. Sorting is done in :
A.  Ascending order B.  Descending order
27 Both the above D. None of the above
ot # ot 3.
A I W W B. it ¥q 3
C. Ivgm A o D. 3w 4 ¥ ¥
7. Smngewhichmresorrcminsdataaﬁerpoweroﬂ‘iscalled
A Volatile storage

B Non - volatile storage
C.  Sequential storage

D. Direct storage
ﬁwﬂwqwﬁqaﬁﬂsma}ﬁhmmmtaﬂmh
A o oy B. -uideyw =iy
C. wielfirm wite D. sgiw wis
-A/1004-A



™. A “‘-W) disk contans
A Tracks
H Sectors
P ks _
\V‘ th tracks and sectors ). None of the above
uw wafd frer & i 7.
A B. #wed
C. 3w W e <N D e A @ W
79. Windows XPis:
e Software B. Hard copy
C.  Operating System D. Hardware
fsta @ = #7
A  Hiwdm B. wE Hidi
C.  #ifen faew D. ®EEA
80. To go to the beginning of a text line press-
A. Home B. Pageup
& Enter None of the above
m ilﬁ "-ﬂ-?ﬂ * 5 ﬂ- Eﬂ% éi fFTI{ ................ @ﬁ ml
A bt 1 314
C p. T § & T
81 CPU Stands for-
A, Cover processing unit Control processing unit
@ Central processing unit D. None of these
W k-4 H?aﬁn{- F41 Efm ??
A war wafan gfe B, wm wafEn e
c dee W qfe D. T A &1 &
§2. Formula in Excel starts with
A - B. =
C. » \J’ /
T W w8 S a2 A -
A - B. =
C. D. /
What is the full form of OMR?
" Optical Mark Reader

A. Optical Memory Reader
C. Optical Manipulation Reader
ST FT T AT H 87

A Fifesa aad et

C. e SHgaTA =X

\/1004-A

D. None of the above

B. sifewa Ak AT
D, @ d q F T

[ 17 ]
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ich changes high level language into machine language is :
84 Aprogram which ¢

A Compiler
C  Edwor

B.  Operating System
D. None of the aboye

o weem &, ww
witg ww W Wi am
s W vom W I

B. mﬁm
A FEEER > m“mm
8s. ;‘t-latc:‘::yusedﬁxslidtshowmpowﬂhimpmntaum . i}
T n .
R T W T W g v g i A g
A. Fs5. B B
C. F3 D re
86 Which of the following 15 not the E-commerce model?
boaA B. BB
P D. B2C
ﬁnﬂflﬁqmt_w%mh
A wy e
DO
A Al +ps
C. Cum +F§ B.  Al+rg
B Alt +Rg
c oo B. Alt+rg
il D. Alt+pg
" B&m""““’?mm
A Acithmetic operaoq e
C Deta storage iy
mmﬁa‘mmmmt
A ke wd ——
C. 3 dygw . -
#9. Speed of CPU 15 measured ig -
o B. Kilohertz
—— D. DppL
R o i e 2
s B. feeieds 4
o D. Hdeape §
Set-A/1004-4
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91.

92.

9%.

Set-A/1004-A |

Hardware means :

A.  Computer program

C. Electronic system
T @ v

A g dm

C. woRNE FH-¥oueh
Network topology may be :
A. Bus

C. Star

Yok e ® W ¢
A W

C. ®r

The three main parts of the Processor are ...........
A. ALU, Control unit and Registers

C. Cache, Control unit and Registers
A g F3W e TR
c. ¥y, %W TR R TR
s 18 @ Spreadsheet programme.
&~ Excel

C. Access
[ —— "

A T
c. @
Punch card was developed in :

A. First Generation
€ Third Generation
7q %1€ Fa faafad g a7
A woq 9t A
c. i A
Basic elements of any presentation is :
A. Clips
C. Templates
forelt w1 SRR T 8
A T

C. W

19 )

N Physical parts of computer
D. None of the above

B. Fegm % wfvw 3
D. wudwm ¥} w

B. Ring
J~ All of the above

B. fin
p. IwE

& ALU, Control unit and RAM
D. RAM, ROM and CD-ROM

B, v Fg e AR W
p. im, im sk @&-W

B. Word

D. PowerPoint

B. =&
D. IETAng

B. Second Generation

D. Fourth Generation

B. fifta ddt o
D. g 0 ¥

B. Slides

& Frames

B. e
D. %=

[P.T.O.]



» Which of the tollowing 18 not 8 type of network”?

\A/Iph B MAN
AN

N LAN
{ WAN
fra A ® v Aok W e W .
B
*
: L0 D. #
7. Which options helps 10 automatically fit a column’s width?
A Width .J" Standard Width
C. Auto fit Selection D. None of the sbove
wem w1 et s A st B faw A A e wm w2
At B. Wit T
€. stlfrz ym D. 7w # 3 W W

9. FTP stands for -

A File Top Protocol B. File Transfer Protocol
~#”  File Transition Protocol

W@-ﬁ-mw“m*)
A TTEE 2T WRiEla

D. Al of the above

B WIE 7 WY
e o
A. Mnti‘on Power Externa) Group B. Mov'mg Picture Expen Group
C. Moving Picture Extra Generation \Pr” Moving Power Externa Group
A SRR (T N
A T W e g B. 1 fre vt
C. oftin ferr vz wem D. fen v Twveder
108, mmofmmadi&ﬁmisuﬂod:
X" Booting B. Formatting
C. Mapping D. Translating
ez dofin 5 wfw Fra ¥
A o B. whifdn
C. uftn .. gheetien
101 Which of the following is Fourth Generation programming language?
A Ce B. JAVA
. soL 4 All of the above
1 4 4 eft wqd em s o &
A W B. m
S D. Ivgw it



Which is the default directory on a hard disk?

A. D> .B. C>
C. Tree D. Root
Wﬁmmmmmﬁﬁt?
A T B. ®>
D. @ D. ®
To Italic the font short cut key is
1
A. Cual+A B. Ctril+T
. Ctrl +
C. Cul+B -
Wﬁsﬁmmtmw“aﬂh e
B. +
A. Cul+A
Cul+B D. Ctul+T
C. +

‘What is Winamp? o
B. x
A. Audio player program

. DBMS
. Presentation program D
feg @ §?
N A B, e WM
c. YA WA AT
» Excdwmkhnokisacoﬂecﬁonof ...........
A. Charts B. Word book
(". worksheet " AandC
e Ak wuE ¥-
A. T B. a€ 4%
| L L2 iCs D. A3RC
C.
For creating a documcnt, you use command at file menu?
A. Open B. Close
C New D Sl\'e
Wﬁ&zmﬁtﬁqmmﬁamﬁmmmmmt?
A A B. ;
¢ 3 D. &
Textin a column is generally aligned........
&, Justified B. Right
C. Center D Left
frt Ftem F e w S € 8
' T B. TS
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108. A directory within a directory is called.

A.  Mini directory B. Junior directory

C. Pan ~J»” Sub directory

fetaed 4 fetaed %) w1 v ¥

A, Tofy felasd B. ¥ Rl

C. W fetwd D. ¥ fetaed
109, In excel, charts are created using which option?

A" Chart wizard B. Pivottable

C. Piechart D. Barchart

Wﬂﬁmﬁm'&:mﬂwmmmi’?

A. = faure B. faz 3@

C. w¥=p@ D. ¥R 9&

110. UPS stands for :
A.  Universal Power Supply
B. Unintc:nupwd Power Supply

C.  Uniform Potential Services
~B" Nobe of the above

TR A Sy 2:
A IPrEEE TR e

B.  IFweufes war ww
C. i W ¥verr afig
D. 3Iwds 7 & o =
111. When sending an e-mail, the ................_ line describes the contents of the message.
A Subject B. To
C. Contents D. CC
0w dod gEg ) e Wi 3 e g F ) T w3
A W= B. %
C. w=m D. i
112.  Unsolicited e-mail is called a..........
A.  Newsgroup B. Usenet
C. Backbone & Spam
FrEfafaes -0 w1 $ed &2
A o B. PR
C. A% D. #m
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ik WWW wees prosocol.
A FTP & HTTP

C WBC D. MTP
TepTELTE WA ® IEn v

A FTP B. HTTP
C. WBC D. MTP
114 Which field .org is related 107
A Education B. Non commercial
C.  Commercial \{Orpnizltion
3w & wn fen A P2
A e B. v wefre
D v D. WA
115. Wh,
b language is developed by Sun-Micro system'?
A Oracle
B. PHP
C Java
D. C++
w T ey
B fasfa a2
s Urmecle
B. PHP
C Java
D. Ce
16.  Which one is not s guided media?
A Co-axial cable B. Fiber optics
C. Twisted paw D. Microwave
o A § S meee fem W §?
A w e ww B. WW 3w
c. e @ D. TRy
{17.  Toreload a web page, pressthe ....oovoeeeer button.
A. Redo A Reload
C. Restore D. Refresh
wWITF AT FAEY T A T
A T B. dwiE
c f=n p. fosm
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118.  Fifth generation computer are :
A.  Artificial intelligence

2~ Both the above

et i & Fe @
A FPm g
C. I zMi
119. Number of bytes in | KBis:
& 1024
C. 3512
L %4 3 Wigem R wen vt 3
A 1024
C. 3512
120.  Maip input device for inputting the text is
A. Mouse
C.  Light pen

mwmﬁa&@rwmt

A TRy

C. &m®

B. Parallel processing

D. None of the above

B. WO wafen
p. vwfw ¥ ¥ HE T

D. 256

D. 256

\B./ Keyboard

D. None of the above

B. e
D. rm'gjaﬂﬁ'ﬁ#‘lﬁ



